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2017 International Mathematics Contest (Taiwan)
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(C )L EEMS URBSE—FZEEE  BANFL 157w - —XFEIE
(A) 8537t (B)75 7t (C)90 Tt (D)80 7T
fEAr:15%(1+5)=90 -

(D)2 EBSFEEAF M REBFEEBEFE?
(A)EE] 90 &£ (B)EEI 91 F£(C)KE 92 F£(D)KEEI 93 £ -
B3R 4 FRESE - 89+4=93 -

( B )3.49RBATIIRABMUEE BRZ T 4R BEFRVAEAN?
(A)4 A (B)5 A (O6 A (D)7 A -
fE1r:49-4=45 - 45=1X45=3X15=5X9 « BREIRBERMIRE - PS5 A -

(A)4 BELTHREEKX 3 H29HRAN - 2172 B2 - B —XK2EA%XA[?
(AVAR11H (B)4AH10H (O)4RA9H (D4R 12H -
BEMr:29+14-31=11 - RE—KE4H11H-

(B )5 BESFO65 SESWFIRIEEBEFEN 8 EZ 45 - MAMEESIR?
(A)52 5% (B)46 5% (C) 48 5% (D)50 % °
fEtr:6X8+4-6=48-2=46 -
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( C )6. Which of the following graphs has a parallel phenomenon?
#:E TEMNEEM—EEFITIRS?

(A) Q (B) ‘i ©) (D)

BT EITRA A MIRRIERBUOAMEI - EC -

(C)7.64 ZV0EMEZD - THEMW 15 FRE?

(A4 (B)7 (CO)11 (D)13 -
fEtr:64+15=4....4 - 15-4=11 - ZFEME 11 -
( B )8.634 RnEB¥ARKEN:?

(A)63 AR 4125 (B6 AR3412% ()6 AR3472% (D634 AR -

BTl AR=100 2% - 634 A =6 AR 34 A% -
( € )9.2007+13=%*...1 - ORKEIEAZI?
(A)7 (B9 (C©)8 (D)6 -
fE#r.(207-1)+13=22 - O=8 -
( D )10. E—EAZ/MEESLFHE? —
(A)20 @ (B)19{&@ (C)17f&@ (D)181{& -
ftr:6x4-2-2-2=18 -
( B )11. AIRETE 2+4+6+8+10+12-36=7
(A0 (B)6 (O)4 (D)8 -
fEHr:(2+12)x3-36=42-36=6 -
( D )12.100 5RETTHE - HERZ P IT?
(A) 1007t (B)1000 7t (C)10000037t (D)10000 JT -
fE#7:10 53& 100 ol 1000 - 1000 st & 10 skl =2 10000 -
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(B )13. MIEXBRIEY 450 50 - XE T &% 1435 7o - 5 ERBAFTHR - ED
FA4RAH? (A)18 3R (B)195& (C)2035& (D)173%F -
f##f:450+1435=1885
18 5& 100 ;7t=1800 A %4
18+1=19 5k -
(C )14 MERBLERBEER 422 N - SKEIEXRZ 48 A EMRWBEEELAEZDA?
(A)470 A (B)520 A (C)892 A (D)792 A -
fEMT:422+48+422=470+422=892 A
( D )15. EEBKFEEK 4 AFH 250 EAFH - WKUR 7 2AFH - BEZ VA #?
(A)3 AF 750 E2QF (B)2 AFH 250 EAFH
(C)3 27 250 EXFH (D)2 A2H 750 =2/H -
BT 7 2F=7000 =7 - 7000-4250=2750 =F# -
(A )16.3066>( )=>( )=23099=>3110  ZEHEAMBZESEZI?
(A)6165 (B)6045 (C)5965 (D)6245 -
fE#7:3077+3088=6165 -
( A )17.318%x7 #1320x6 LE&& KA/ - {OIFLEERK?
#15%: 318 x7and 320x 6 compare size, which is larger?
(A) 318x7 (B)320x6 (C)—#&K (D)#EALEE -
f#r:318x7=2226 - 320X6=1920 - 318X7>320X6 °
(D )18. ERNABEFrERASENIEE 2 B - BEESRVET T %1?
(A) 36 AR (B) 48 AR (C)60 AR (D)72 AR - —
BT (12+6)x2=36>—FE
36%X2=72
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(C )19. BZRESHELESEAS 50 Al - EhZEEHNAREBEEN 2 2
D10 AWE - w2 EERES DA NE?
(A)25 AWE (B)30 AlE (C)10 AME (D)110 AN -

f##r:50+10=60

60+(2+1)=20

20%x2-10=30

30-20=10

( B )20. —&5hGEEaI A4 4 EA - =P 27 AR InhlifiieE - REL S 507
#5F: A bumper car can sit 4 people, the class 27 people in line to play the

bumper car, need several bumper cars just enough?
(A)6& (B)7& (C)8& (D)9& -

fEtr:27+4=6...3

6+1=7

(C )21. —BEFIUENFEK - BERMEKHEESVI?

Al = (B)g;e-: (C)§:=;-; (D)ggo %%g
U 00

(C )22.21+8+15+8+12+8="

(A)10 (B)12 (C)6 (D)EZEETE -

21 15 12 48
BT —+—+—=—=6
8 8 8 8

(A )23. —HANAS M EFEES 19 AN - B 144 FAELE - ER T2
FM?(A)8¥ (B)lIoFm (9% (D)11%-

fEHT:8X19-144=152-144=8 -
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(D )24.2+4+6+8+...+50="

(A)652 (B)648 (C)646 (D)650 -

BE#f:2+450=52 + 52x25+2=650 -

( C )25. FARERRRML - [ HR?
ARE—EELD BERARRMAZRERE COREB—IREE D)EERZFRN2
E+E& -

BRiTErEAERSIFEE -

— - FIEE(EBRE 25 9)

1. 6 EEEEHMIE 114 - 5 6 EEHP - RANBFESI?

fEHT: 114+3=38  (38+2)+2=20 - (38-2) +2=18

PEFE 18 20 - EEBR=1416 18 2022 24 - HKREF
24

I3

2. RELTNESE#HFHTE - MR—FHER 36 % - (REME—FANEZENS?

5 @ ﬁ

il e

#5E: The weight on the balance is balanced, if an Apple 36 grams, you can

know how much weight of a watermelon ?

fEtT:36X3+2=54 - 54x3=162 A% -
. 162
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